Common Shares

Issuing Shares for Cash.
· Cash is debited and Common Shares is credited for the amount received. 

· The proceeds from the issue become legal capital.

To illustrate the issue of common shares, assume that Hydroslide, Inc. is authorized to issue an unlimited number of no par value common shares. It issues 1,000 of these shares for $1 per share on January 12. The entry to record this transaction is as follows:
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Issuing Shares for Services or Noncash Assets. 

· When shares are issued for services (compensation to lawyers, consultants) or for noncash assets (land, buildings, and equipment), the cost is the cash equivalent price. 

· The cash equivalent price is the fair market value of the consideration given up. 

· If this amount cannot be determined, the fair market value of the consideration received is used to determine the cost. 

To illustrate, assume that the lawyer who helped Hydroslide incorporate billed the company $5,000 for her services. On January 18, she agreed to accept 4,000 common shares in payment of her bill. At the time of the exchange, the market price for the shares is $1. In this case, the shares should be recorded at the market value of the consideration given up, which is 4,000 shares worth $1 per share, and not the amount of the bill, which is $5,000. What the lawyer accepted as payment for her bill were common shares valued at $4,000 on this date, and not cash of $5,000. The common shares may increase in value over time, but at the date of payment, they were worth $4,000. Accordingly, the entry is as follows:
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Sometimes, however, common shares do not have a ready market (they cannot be easily sold) or their market value cannot be determined. In these cases, the market value of the consideration that is received would instead be used to determine the cash equivalent price, and thus the cost. To illustrate, assume that a newly incorporated company issues 10,000 shares on October 1 to acquire land with an appraised (market) value of $80,000. At the time of the acquisition, the company's shares do not have a reliable market value because they are not actively traded yet. In this case, the land would be recorded at the market value of the consideration received, $80,000, as follows:
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Reacquiring Shares. 

Companies may purchase their own shares on the open market. 

They may be trying to: 

(a) to increase the level of trading activity, 

(b) reduce the number of shares issued, 

(c) have additional shares available to reissue to employees, 

(d) have additional shares available for use in the acquisition of other companies, 

(e) comply with percentage share ownership requirements, or 

(f) eliminate a hostile shareholder.

Federally incorporated companies that reacquire shares must cancel the shares, restoring them to an unissued status. 

· When a company reacquires and cancels some of its own shares, the share capital account will be reduced (debited) for the average issue price of the shares being cancelled. 

· The average issue price per share is calculated by dividing the balance of the common share account by the number of shares issued.

Reacquisition Below Average Cost.  

· When a company is able to reacquire its own shares by paying less money than was received when the shares were issued, the remaining shareholders benefit. 

· This benefit is not considered to be a gain, and does not appear on the income statement. An account called Contributed Capital – Reacquisition of Shares is credited for the difference.

To illustrate the reacquisition of common shares at a price less than average cost, assume that Cocagne Inc. has an unlimited number of common shares authorized, and a total of 25,000 common shares issued. It has a balance in its Common Shares account of $50,000. The average cost of Cocagne's common shares is therefore $2 per share ($50,000 ÷ 25,000). On September 23, Cocagne reacquired 5,000 of its common shares at a price of $1.50 per share. Since the average cost of the shares was $2 per share, a $0.50 ($2.00 − $1.50) additional contribution to shareholders' equity results and is recorded as follows:
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In this entry, the Common Shares account is debited for its average cost of $2 per share.The difference between the average cost of the shares and the amount paid to repurchase them is credited to a new shareholders' equity account for the contributed capital from the reacquisition of the shares. The balance in this account is reported as contributed capital in the shareholders' equity section of the balance sheet, along with the share capital, to indicate the total capital contributed by the shareholders. The cash in the entry was paid to the various shareholders that the shares were repurchased from.

After this entry, Cocagne still has an unlimited number of shares authorized, but only 20,000 (25,000 − 5,000) shares issued, and a balance of $40,000 ($50,000 − $10,000) in its Common Shares account. The average cost is still $2 per share ($40,000 ÷ 20,000).

Reacquisition Above Average Cost.  

· When a company reacquires its own shares by paying more money than was received when the shares were issued, the remaining shareholders lose some of their equity. 

· This is not considered to be a loss, and does not appear on the income statement. 

· As always, the common share account is debited for the average issue price of the shares being cancelled. 

· If there is a balance in the Contributed Capital – Reacquisition Shares account, the account can be debited, but only until its balance is reduced to zero. Any remaining difference is debited to Retained Earnings.

Now assume that Cocagne paid $2.50 per share to reacquire 5,000 of its common shares, rather than $1.50 per share as assumed above. In this case, there would be a debit to the shareholders' equity account for the difference between the price paid to reacquire the shares and their average cost. If there is any balance in the contributed capital account from previous reacquisitions, this amount would first be reduced (debited). However, contributed capital cannot be reduced below zero. In other words, contributed capital can never have a negative, or debit, balance. This is because of the limited liability feature of a corporation: as contributed capital is an amount that belongs to the shareholders, it cannot be put into a deficit position as that would make the shareholders liable for a deficit. Instead, if the debit amount is greater than the balance in contributed capital, the difference is recorded in Retained Earnings, which can go into a deficit position.

The journal entry to record the reacquisition and retirement of Cocagne's common shares at $2.50 per share is as follows:
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In this entry, the Common Shares account is debited for its average cost of $2 per share, just as it was in the entry in the preceding section. Because Cocagne is assumed to have no existing balance in a contributed capital account, the negative difference between the average cost of the shares and the amount paid to repurchase them is debited to the Retained Earnings account, as was explained above. After this entry, Cocagne still has 20,000 (25,000 − 5,000) shares issued and a balance of $40,000 ($50,000 − $10,000) in its Common Shares account.

In summary, then, the only difference in the accounting for a reacquisition at below or above the average cost has to do with recording the difference between the average cost of the shares and the amount of cash paid to reacquire them. If the shares are reacquired at a price below the average cost, the difference is credited to a contributed capital account. If the shares are reacquired at a price above their average cost, the difference is debited first to the contributed capital account that was used for any previous reacquisition below cost of the same class of shares, and secondly to the Retained Earnings account if there is no credit balance left in the contributed capital account. 

